| B-3595 Annual Contract for Small | wares and  | 1 Equipment f | or Culinary Classrooms                |                     |
|----------------------------------|------------|---------------|---------------------------------------|---------------------|
| Line 1: Vacuum Packaging Bag     |            |               |                                       | <u>2</u>            |
| Name                             | QTY        | UOM           |                                       | Extended            |
| Sam Tell and Son Inc.            | <u>Q11</u> | 2             | \$23,29                               | \$46.58             |
| Edward Don & Company             |            | 2             | \$37.37                               | \$74.74             |
| Edward Don & Company             |            | 2             | ψ01.31                                | Ψ14.14              |
| Line 2: Vacuum Packaging Bag     | s, 3 mil 8 | x 12, Ary or  | equal                                 |                     |
| Name                             | QTY        | UOM           |                                       | Extended            |
| Sam Tell and Son Inc.            |            | 2             | \$23.29                               | \$46.58             |
| Edward Don & Company             |            | 2             | \$69.49                               | \$138.98            |
|                                  | 0 "1 4     |               |                                       |                     |
| Line 3: Vacuum Packaging Bag     | · ·        |               |                                       | Extended            |
| Name<br>Sam Tell and Son Inc.    | <u>QTY</u> | <u>UOM</u>    |                                       | Extended            |
|                                  |            | 2             | \$42.44                               | \$84.88             |
| Edward Don & Company             |            | 2             | \$94.11                               | \$188.22            |
| Line 4: Vacuum Packaging Bag     | s, 3 mil 1 | 0 x 15, Ary o | r equal                               |                     |
| Name Same                        | QTY        | <u>UOM</u>    |                                       | Extended            |
| Sam Tell and Son Inc.            |            | 2             | \$31.57                               | \$63.14             |
| Edward Don & Company             |            | 2             | \$108.58                              | \$217.16            |
|                                  |            |               |                                       |                     |
| Line 5: Shelving wire, Metro Mo  | odel No. 2 |               | -                                     | _                   |
| <u>Name</u>                      | <u>QTY</u> | <u>UOM</u>    | · · · · · · · · · · · · · · · · · · · | <u>Extended</u>     |
| Sam Tell and Son Inc.            |            | 12            | \$32.26                               | \$387.12            |
| Edward Don & Company             |            | 12            | \$38.10                               | \$457.20            |
| Ace Mart Restaurant Supply Co    |            | 12            | \$50.28                               | \$603.36            |
| PUEBLO HOTEL SUPPLY, INC D       |            | 12            | \$64.26                               | \$771.12            |
| Pasco Brokerage Inc.             |            | 12            | \$65.00                               | \$780.00            |
| JEAN'S RESTAURANT SUPPLY         |            | 12            | \$97.50                               | \$1,170.00          |
| Line 6: Mobile Posts, Metro Mo   | del 74UP   | K3 or equal - | No Award                              | _                   |
| Name                             | QTY        | UOM           |                                       | Extended            |
| Sam Tell and Son Inc.            | <u>~</u>   | 12            | \$9.38                                | \$112.56            |
| Ace Mart Restaurant Supply Co    |            | 12            | \$13.10                               | \$157.20            |
| PUEBLO HOTEL SUPPLY, INC D       | )          | 12            | \$16.74                               | \$200.88            |
| Edward Don & Company             |            | 12            | \$18.28                               | \$219.36            |
| Pasco Brokerage Inc.             |            | 12            | \$24.85                               | \$298.20            |
| 1 dood Brokerage mo.             |            | 12            | Ψ24.00                                | Ψ200.20             |
| Line 7: Electronic Scale, Edlund | d, WSC-1   | 0 ONLY        |                                       |                     |
| <u>Name</u>                      | <u>QTY</u> | <u>UOM</u>    |                                       | <u>Extended</u>     |
| PUEBLO HOTEL SUPPLY, INC D       |            | 2             | \$333.20                              | \$666.40            |
| Sam Tell and Son Inc.            |            | 2             | \$368.62                              | \$737.24            |
| Pasco Brokerage Inc.             |            | 2             | \$375.00                              | \$750.00            |
| Ace Mart Restaurant Supply Co    |            | 2             | \$382.91                              | \$765.82            |
| JEAN'S RESTAURANT SUPPLY         |            | 2             | \$420.29                              | \$840.58            |
| Edward Don & Company             |            | 2             | \$468.89                              | \$937.78            |
| Line O. Tenne Editind model A    | 400LID II  | anu Dutu Ca   | allan Tanna                           |                     |
| Line 8: Tongs, Edlund model, 4   |            | UOM           |                                       | Extended            |
| Name Sam Tell and Son Inc.       | <u>QTY</u> |               |                                       | Extended<br>\$14.52 |
|                                  |            | 12            | \$1.21                                | \$14.52<br>\$50.76  |
| PUEBLO HOTEL SUPPLY, INC D       |            | 12            | \$4.98<br>\$6.39                      | \$59.76<br>\$75.36  |
| JEAN'S RESTAURANT SUPPLY         |            | 12            | \$6.28<br>\$6.75                      | \$75.36<br>\$81.00  |
| Pasco Brokerage Inc.             |            | 12            | \$6.75                                | \$81.00             |
| Ace Mart Restaurant Supply Co    |            | 12            | \$6.93                                | \$83.16             |

| Line 9: Hot Pad, Tucker Safety   | Droducte  | Model 88500   |   |  |
|--|---|---|---|--|
| Name   | QTY   | UOM   | Unit Price  | Extended   |
| Sam Tell and Son Inc.  | <u>Q11</u>  | 12  | \$3.00  | \$36.00  |
| JEAN'S RESTAURANT SUPPLY   |   | 12  | \$10.98   | \$131.76   |
| Pasco Brokerage Inc.   |   | 12  | \$12.15   | \$145.80   |
| Edward Don & Company   |   | 12  | \$17.40   | \$208.80   |
| Ace Mart Restaurant Supply Co (A   | `   | 12  | \$3.99  | \$47.88  |
| Ace Mart Restaurant Supply Co (A   | 1   | 12  | φ3.99   | φ47.00   |
| Line 11: Cutting Gloves, Wells   |   |   |   |  |
| Name   | <u>QTY</u>  | <u>UOM</u>  | Unit Price  | Extended   |
| Sam Tell and Son Inc.  |   | 6   | \$12.54   | \$75.24  |
| Edward Don & Company   |   | 6   | \$13.78   | \$82.68  |
| Pasco Brokerage Inc.   |   | 6   | \$24.00   | \$144.00   |
| Ace Mart Restaurant Supply Co (A   | 4   | 6   | \$17.19   | \$103.14   |
| Line 12: Lobby Dust Pan, Carlis  | sle Model   | 36141003-1  |   |  |
| Name   | QTY   | UOM   | Unit Price  | Extended   |
| Sam Tell and Son Inc.  |   | 3   | \$8.95  | \$26.85  |
| PUEBLO HOTEL SUPPLY, INC D   | )   | 3   | \$9.87  | \$29.61  |
| JEAN'S RESTAURANT SUPPLY   |   | 3   | \$11.00   | \$33.00  |
| Pasco Brokerage Inc.   |   | 3   | \$20.00   | \$60.00  |
| Edward Don & Company   |   | 3   | \$22.89   | \$68.67  |
| Ace Mart Restaurant Supply Co (A   | 4   | 3   | \$17.19   | \$51.57  |
|  |   |   | •   | •  |
| Line 13: Counter Top Mixer, 5 of   | .4 4-6-1- 4-  |   |   |  |
| Line 13. Counter Top Wilker, 3 C   | •   | •   | •   |  |
| <u>Name</u>  | QTY   | <u>UOM</u>  | <u>Unit Price</u>   | <u>Extended</u>  |
| Name Sam Tell and Son Inc.   | <u>QTY</u>  | •   | <u>Unit Price</u><br>\$2,000.69   | \$2,000.69   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D  | <u>QTY</u>  | <u>UOM</u>  | <u>Unit Price</u><br>\$2,000.69<br>\$2,101.74   | \$2,000.69<br>\$2,101.74   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company  | <u>QTY</u>  | <u>UOM</u><br>1   | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71  | \$2,000.69<br>\$2,101.74<br>\$2,122.71   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D  | <u>QTY</u>  | <u>UOM</u> 1 1  | <u>Unit Price</u><br>\$2,000.69<br>\$2,101.74   | \$2,000.69<br>\$2,101.74   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company  | <u>QTY</u>  | UOM<br>1<br>1<br>1  | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71  | \$2,000.69<br>\$2,101.74<br>\$2,122.71   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc.   | <u>QTY</u>  | UOM<br>1<br>1<br>1  | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E Edward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY   | QTY<br>)  | UOM<br>1<br>1<br>1<br>1<br>1<br>1                               | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEDWARD Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  | QTY<br>)  | UOM<br>1<br>1<br>1<br>1<br>1<br>1                               | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E Edward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name  | QTY 30 in, Me   | UOM<br>1<br>1<br>1<br>1<br>1<br>1<br>1<br>1                     | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E Edward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc.   | QTY 30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 Uom 1 Uom 1 Uom 1 Uom                     | Unit Price<br>\$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Unit Price  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEDWARD Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company   | QTY 30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 Uom 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc.   | <u>QTY</u><br>30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 Uom 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23   | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D  | <u>QTY</u><br>30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61                                     |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DIEBLO HOTEL SUPPLY  | <u>QTY</u><br>30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48   | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48                         |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DESAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  | <u>QTY</u><br>30 in, Me   | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61                                     |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEJEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring   | 30 in, Me<br>QTY  | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48   | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48             |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEJEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring Name  | <u>QTY</u><br><u>30 in, Me</u><br><u>QTY</u><br><u>WSG30, I</u><br><u>QTY</u> | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48 \$176.48  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48             |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEJEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring Name PUEBLO HOTEL SUPPLY, INC DESTAURANT SUPPLY PUEBLO HOTEL SUPPLY, INC DESTAURANT SUPPLY PUEBLO HOTEL SUPPLY, INC DESTAURANT SUPPLY   | <u>QTY</u><br><u>30 in, Me</u><br><u>QTY</u><br><u>WSG30, I</u><br><u>QTY</u> | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48 \$176.48  | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48             |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DIEBLO HOTEL SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring Name PUEBLO HOTEL SUPPLY, INC DIEBLO H | <u>QTY</u><br><u>30 in, Me</u><br><u>QTY</u><br><u>WSG30, I</u><br><u>QTY</u> | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48 \$176.48  Unit Price \$133.41 \$134.65          | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48             |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DESAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring Name PUEBLO HOTEL SUPPLY, INC DESAM Tell and Son Inc. JEAN'S RESTAURANT SUPPLY   | <u>QTY</u><br><u>30 in, Me</u><br><u>QTY</u><br><u>WSG30, I</u><br><u>QTY</u> | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48 \$176.48  Unit Price \$133.41 \$134.65 \$160.59 | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48<br>\$176.48 |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DEdward Don & Company Pasco Brokerage Inc. JEAN'S RESTAURANT SUPPLY Ace Mart Restaurant Supply Co  Line 14: Dunnage Rack, 18 in x Name Pasco Brokerage Inc. Edward Don & Company Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DIEBLO HOTEL SUPPLY Ace Mart Restaurant Supply Co  Line 15: Spice Grinder, Waring Name PUEBLO HOTEL SUPPLY, INC DIEBLO H | <u>QTY</u><br><u>30 in, Me</u><br><u>QTY</u><br><u>WSG30, I</u><br><u>QTY</u> | UOM 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1                       | Unit Price \$2,000.69 \$2,101.74 \$2,122.71 \$2,185.00 \$2,202.78 \$2,222.99  Unit Price \$112.00 \$114.03 \$144.23 \$146.61 \$176.48 \$176.48  Unit Price \$133.41 \$134.65          | \$2,000.69<br>\$2,101.74<br>\$2,122.71<br>\$2,185.00<br>\$2,202.78<br>\$2,222.99<br>Extended<br>\$112.00<br>\$114.03<br>\$144.23<br>\$146.61<br>\$176.48<br>\$176.48             |

| Line 16: Induction Cookers, 180   | 00 watt 1  | 20 volt, Vollrati   | n 6950020 or equal   |  |
|---|------------|---|--|--|
| Name  | QTY        | UOM   |  | Extended   |
| Sam Tell and Son Inc.   |            | 2   | \$307.80   | \$615.60   |
| PUEBLO HOTEL SUPPLY, INC D  | )          | 2   | \$490.08   | \$980.16   |
| Edward Don & Company  |            | 2   | \$508.75   | \$1,017.50   |
| Pasco Brokerage Inc.  |            | 2   | \$550.00   | \$1,100.00   |
| JEAN'S RESTAURANT SUPPLY  |            | 2   | \$569.42   | \$1,138.84   |
| Ace Mart Restaurant Supply Co   |            | 2   | \$606.76   | \$1,213.52   |
| Line 17: Speed Rack, roll in refi   | rigerator  | , Lakeside 8528   | or equal   |  |
| Name  | QTY        | UOM   |  | Extended   |
| Sam Tell and Son Inc.   |            | 1   | \$272.77   | \$272.77   |
| PUEBLO HOTEL SUPPLY, INC D  | )          | 1   | \$443.23   | \$443.23   |
| Edward Don & Company  |            | 1   | \$447.34   | \$447.34   |
| Pasco Brokerage Inc.  |            | 1   | \$510.00   | \$510.00   |
| JEAN'S RESTAURANT SUPPLY  |            | 1   | \$533.52   | \$533.52   |
| Ace Mart Restaurant Supply Co   |            | 1   | \$533.52   | \$533.52   |
| Line 18: Sheet pans, full size, V   | Vear-Eve   | r® Heavy-Duty,  | Vollrath Model 900   | 1  |
| Name  | <u>QTY</u> | <u>UOM</u>  |  | Extended   |
| Sam Tell and Son Inc.   |            | 12  | \$9.50   | \$114.00   |
| PUEBLO HOTEL SUPPLY, INC D  | )          | 12  | \$11.09  | \$133.08   |
| Ace Mart Restaurant Supply Co   |            | 12  | \$11.61  | \$139.32   |
| JEAN'S RESTAURANT SUPPLY  |            | 12  | \$13.01  | \$156.12   |
| Edward Don & Company  |            | 12  | \$13.06  | \$156.72   |
| Pasco Brokerage Inc.  |            | 12  | \$13.25  | \$159.00   |
|   |            |   |  |  |
| Line 19: Mixing Bowls, 1.5 qt st  | ainless    | steel, heavy gua  | age, Vollrath 69014  | or equal   |
| <u>Name</u>   | ainless s  | steel, heavy gua  |  | Extended   |
| Name<br>Sam Tell and Son Inc.   |            | <u>UOM</u><br>6   | Unit Price<br>\$0.81   | Extended<br>\$4.86   |
| Name Sam Tell and Son Inc. Edward Don & Company   | QTY        | <u>UOM</u><br>6<br>6  | <u>Unit Price</u><br>\$0.81<br><b>\$1.73</b>   | Extended<br>\$4.86<br>\$10.38  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D  | QTY        | <u>UOM</u><br>6<br>6<br>6   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83   | Extended<br>\$4.86<br>\$10.38<br>\$40.98   |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY   | QTY        | UOM<br>6<br>6<br>6<br>6   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02   | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  | QTY        | 00M<br>6<br>6<br>6<br>6<br>6<br>6   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50   | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12<br>\$51.00   |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY   | QTY        | UOM<br>6<br>6<br>6<br>6   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02   | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  | QTY        | 6<br>6<br>6<br>6<br>6<br>6<br>6   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50<br>\$9.25   | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12<br>\$51.00<br>\$55.50  |
| Name Sam Tell and Son Inc.  Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stai   | QTY        | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50<br>\$9.25<br>ge, Vollrath 69030 or  | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12<br>\$51.00<br>\$55.50<br>equal<br>Extended   |
| Name Sam Tell and Son Inc.  Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stai Name Sam Tell and Son Inc.  | QTY        | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag   | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50<br>\$9.25<br>ye, Vollrath 69030 or<br>Unit Price<br>\$1.17  | Extended<br>\$4.86<br>\$10.38<br>\$40.98<br>\$48.12<br>\$51.00<br>\$55.50<br>equal<br>Extended<br>\$7.02   |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stai Name Sam Tell and Son Inc. Edward Don & Company  | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag<br>UOM<br>6  | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50<br>\$9.25<br>e, Vollrath 69030 or<br>Unit Price<br>\$1.17<br>\$3.90   | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D  | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag<br>UOM<br>6<br>6                                  | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25  Ie, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10  | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY   | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag<br>UOM<br>6<br>6<br>6                             | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50   | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stait Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br><u>UOM</u><br>6<br>6<br>6<br>6                                    | Unit Price<br>\$0.81<br>\$1.73<br>\$6.83<br>\$8.02<br>\$8.50<br>\$9.25<br>ye, Vollrath 69030 or<br>Unit Price<br>\$1.17<br>\$3.90<br>\$8.10<br>\$9.50<br>\$9.75                                    | ## Stended  ## \$4.86  ## \$4.86  ## \$40.98  ## \$48.12  ## \$51.00  ## \$55.50  ## Extended  ## \$7.02  ## \$23.40  ## \$48.60  ## \$57.00  ## \$58.50                   |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY   | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>eel, heavy guag<br>UOM<br>6<br>6<br>6                             | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50   | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stait Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  | nless ste  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br><b>eel, heavy guag</b><br>UOM<br>6<br>6<br>6<br>6                 | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or   Unit Price \$1.17 \$3.90 \$8.10 \$9.75 \$10.68   | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  Equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stain Name  | nless ste  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>9<br>9<br>9<br>9<br>9<br>9<br>9<br>9<br>9<br>9<br>9<br>9          | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or  Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68   | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  equal  Extended                                   |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stai Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stai Name Sam Tell and Son Inc.  | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>9<br>UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6             | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68   e, Vollrath 69080 or Unit Price \$2.10                         | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  equal  Extended \$12.60                           |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stait Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stait Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D   | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6               | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or  Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68   e, Vollrath 69080 or  Unit Price \$2.10 \$16.61               | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  Equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  Extended \$12.60 \$99.66                          |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stain Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY                      | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6          | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25  Ie, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68  Ie, Vollrath 69080 or Unit Price \$2.10 \$16.61 \$19.49         | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  equal  Extended \$116.60 \$99.66 \$116.94         |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stain Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>9<br>9 UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6 | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25   e, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68   e, Vollrath 69080 or Unit Price \$2.10 \$16.61 \$19.49 \$20.00 | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  equal  Extended \$12.60 \$99.66 \$116.94 \$120.00 |
| Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 20: Mixing Bowls, 3 qt stain Name Sam Tell and Son Inc. Edward Don & Company PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co  Line 21: Mixing Bowls, 8 qt stain Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY                      | nless sto  | UOM<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6<br>6          | Unit Price \$0.81 \$1.73 \$6.83 \$8.02 \$8.50 \$9.25  Ie, Vollrath 69030 or Unit Price \$1.17 \$3.90 \$8.10 \$9.50 \$9.75 \$10.68  Ie, Vollrath 69080 or Unit Price \$2.10 \$16.61 \$19.49         | Extended \$4.86 \$10.38 \$40.98 \$48.12 \$51.00 \$55.50  Equal  Extended \$7.02 \$23.40 \$48.60 \$57.00 \$58.50 \$64.08  Extended \$12.60 \$99.66 \$116.94                 |

| Line 22: Mixing Bowls, 13 qt sta |             |            |                    |                                       |
|----------------------------------|-------------|------------|--------------------|---------------------------------------|
| Name                             | <u>QTY</u>  | <u>UOM</u> | Unit Price         | Extended                              |
| Sam Tell and Son Inc.            |             | 6          | \$3.64             | \$21.84                               |
| PUEBLO HOTEL SUPPLY, INC D       |             | 6          | \$22.56            |                                       |
| JEAN'S RESTAURANT SUPPLY         |             | 6          | \$26.46            | ·                                     |
| Pasco Brokerage Inc.             |             | 6          | \$27.25            |                                       |
| Ace Mart Restaurant Supply Co    |             | 6          | \$30.67            | •                                     |
| Edward Don & Company             |             | 6          | \$42.72            | \$256.32                              |
| Line 23: 4 quart food container, | Cambro m    | odel       |                    |                                       |
| Name                             | <u>QTY</u>  | <u>UOM</u> | Unit Price         | Extended                              |
| Sam Tell and Son Inc.            |             | 24         | \$4.01             | \$96.24                               |
| PUEBLO HOTEL SUPPLY, INC D       |             | 24         | \$5.50             |                                       |
| JEAN'S RESTAURANT SUPPLY         |             | 24         | \$6.45             | · ·                                   |
| Pasco Brokerage Inc.             |             | 24         | \$6.75             | · ·                                   |
| Edward Don & Company             |             | 24         | \$8.90             | •                                     |
| Ace Mart Restaurant Supply Co (A |             | 24         | \$6.49             | \$155.76                              |
| Line 24: 6 quart food container, | Cambro m    | odel       |                    |                                       |
| <u>Name</u>                      | <u>QTY</u>  | <u>UOM</u> | Unit Price         | <u>Extended</u>                       |
| Sam Tell and Son Inc.            |             | 24         | \$5.12             | \$122.88                              |
| PUEBLO HOTEL SUPPLY, INC D       |             | 24         | \$7.12             | · · · · · · · · · · · · · · · · · · · |
| JEAN'S RESTAURANT SUPPLY         |             | 24         | \$8.36             | •                                     |
| Pasco Brokerage Inc.             |             | 24         | \$8.50             | •                                     |
| Edward Don & Company             |             | 24         | \$9.80             | · ·                                   |
| Ace Mart Restaurant Supply Co (A |             | 24         | \$7.89             | \$189.36                              |
| Line 25: 8 quart food container, | Cambro m    | odel       |                    |                                       |
| Name                             | <u>QTY</u>  | <u>UOM</u> | Unit Price         | Extended                              |
| Sam Tell and Son Inc.            |             | 24         | \$5.99             | \$143.76                              |
| PUEBLO HOTEL SUPPLY, INC D       |             | 24         | \$8.36             | · ·                                   |
| JEAN'S RESTAURANT SUPPLY         |             | 24         | \$9.81             | \$235.44                              |
| Edward Don & Company             |             | 24         | \$9.99             | · ·                                   |
| Pasco Brokerage Inc.             |             | 24         | \$10.00            |                                       |
| Ace Mart Restaurant Supply Co (A |             | 24         | \$9.10             | \$218.40                              |
| Line 26: 12 quart food containe  | r, Cambro r |            |                    |                                       |
| Name                             | <u>QTY</u>  | <u>UOM</u> | Unit Price         | Extended                              |
| Sam Tell and Son Inc.            |             | 12         | \$8.70             | \$104.40                              |
| PUEBLO HOTEL SUPPLY, INC D       |             | 12         | \$11.14            | · ·                                   |
| JEAN'S RESTAURANT SUPPLY         |             | 12         | \$13.07            |                                       |
| Pasco Brokerage Inc.             |             | 12         | \$13.25            |                                       |
| Edward Don & Company             |             | 12         | \$18.07            |                                       |
| Ace Mart Restaurant Supply Co (A |             | 12         | \$13.47            | \$161.64                              |
| Line 27: 22 quart food containe  | r, Cambro r | nodel      |                    |                                       |
| <u>Name</u>                      | <u>QTY</u>  | <u>UOM</u> | Unit Price         | Extended                              |
| Sam Tell and Son Inc.            |             | 12         | \$17.29            | \$207.48                              |
| PUEBLO HOTEL SUPPLY, INC D       |             | 12         | \$20.95            | \$251.40                              |
| JEAN'S RESTAURANT SUPPLY         |             | 12         | \$24.58            |                                       |
| Pasco Brokerage Inc.             |             | 12         | \$25.00            |                                       |
| Edward Don & Company             |             | 12         |                    | い 40フ Eつ                              |
| Ace Mart Restaurant Supply Co (A |             | 12         | \$33.96<br>\$24.16 |                                       |

| Line 28: Lid 4qt, Cambro mode   | I SFC2SCI                   | PP, or equal  |  |  |
|---|-----------------------------|---|--|--|
| Name  | QTY                         | UOM   | Unit Price   | Extended   |
| Sam Tell and Son Inc.   | ·                           | 24  | \$0.59   | \$14.16  |
| PUEBLO HOTEL SUPPLY, INC D  | )                           | 24  | \$1.45   | \$34.80  |
| JEAN'S RESTAURANT SUPPLY  |                             | 24  | \$1.71   | \$41.04  |
| Edward Don & Company  |                             | 24  | \$2.36   | \$56.64  |
| Pasco Brokerage Inc.  |                             | 24  | \$2.50   | \$60.00  |
| Ace Mart Restaurant Supply Co (A  | A                           | 24  | \$1.84   | \$44.16  |
| Line 29: Lid, fits 6 and 8 qt squ   | are Camb                    | ro model SF   | C6SCPP or equal  |  |
| Name  | QTY                         | UOM   | Unit Price   | Extended   |
| Sam Tell and Son Inc.   |                             | 24  | \$0.93   |  |
| PUEBLO HOTEL SUPPLY, INC D  | )                           | 24  | \$1.81   | \$43.44  |
| JEAN'S RESTAURANT SUPPLY  |                             | 24  | \$2.12   |  |
| Pasco Brokerage Inc.  |                             | 24  | \$2.75   | •  |
| Edward Don & Company  |                             | 24  | \$2.93   | •  |
| Ace Mart Restaurant Supply Co (A  | Δ                           | 24  | \$2.12   | •  |
| , too man reodadiana cappiy co (,   | ,                           | 2 '   | Ψ2.12  | Ψ00.00   |
| Line 30: Lid, fits 12 and 22 qt s   |                             |   |  |  |
| Name Sam Tell and Son Inc.  | <u>QTY</u>                  | UOM<br>24   | Unit Price   | Extended   |
|   |                             | 24  | \$1.40   | •  |
| PUEBLO HOTEL SUPPLY, INC D  | )                           | 24  | \$2.63   | ·  |
| JEAN'S RESTAURANT SUPPLY  |                             | 24  | \$3.09   | •  |
| Pasco Brokerage Inc.  |                             | 24  | \$3.50   | •  |
| Edward Don & Company  |                             | 24  | \$4.26   | •  |
| Ace Mart Restaurant Supply Co (A  | 4                           | 24  | \$2.77   | \$66.48  |
|   |                             |   |  |  |
| Line 31: 4 quart round, Cambro  |                             |   | •  |  |
| Name  | CamWea                      | <u>UOM</u>  | <u>Unit Price</u>  | Extended   |
| Name<br>Sam Tell and Son Inc.   | <u>QTY</u>                  | <u>UOM</u><br>24  | Unit Price<br>\$4.47   | \$107.28   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D   | <u>QTY</u>                  | <u>UOM</u><br>24<br>24  | <u>Unit Price</u><br>\$4.47<br><mark>\$6.55</mark>   | \$107.28<br>\$157.20   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY  | <u>QTY</u>                  | <u>UOM</u><br>24<br>24<br>24  | <u>Unit Price</u><br>\$4.47<br><b>\$6.55</b><br>\$7.69   | \$107.28<br>\$157.20<br>\$184.56   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.   | <u>QTY</u>                  | UOM<br>24<br>24<br>24<br>24<br>24   | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co   | <u>QTY</u>                  | 24<br>24<br>24<br>24<br>24<br>24<br>24                                      | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.   | <u>QTY</u>                  | UOM<br>24<br>24<br>24<br>24<br>24   | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co   | QTY<br>)                    | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                                | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63  | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  | QTY<br>)                    | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                                | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63  | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC DIED JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro   | QTY  CamWea                 | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                                | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63  | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name   | QTY  CamWea  QTY            | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>rmodel RFS0                 | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc.   | QTY  CamWea  QTY            | UOM<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>rmodel RFS0<br>UOM<br>24   | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D  | QTY  CamWea  QTY            | 24 24 24 24 24 24 24 20 24 24 24 24 24 24 24 24 24 24                       | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY   | QTY  CamWea  QTY            | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44<br>\$7.67<br>\$8.99   | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  | QTY  CamWea  QTY            | UOM<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24 | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44<br>\$7.67<br>\$8.99<br>\$9.25                                     | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company   | CamWea                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44<br>\$7.67<br>\$8.99<br>\$9.25<br>\$9.99<br>\$12.43                | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Line 33: 8 quart round, Cambro  | CamWea                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price<br>\$4.47<br>\$6.55<br>\$7.69<br>\$8.00<br>\$8.49<br>\$10.63<br>CW6, or equal<br>Unit Price<br>\$5.44<br>\$7.67<br>\$8.99<br>\$9.25<br>\$9.99<br>\$12.43                | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name  | CamWea                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal Unit Price                               | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended   |
| Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name Sam Tell and Son Inc.  | CamWea                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal  Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal  Unit Price \$7.10                      | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended<br>\$170.40   |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC D   | QTY  CamWea QTY  CamWea QTY | UOM 24 24 24 24 24 24 24 24 24 24 24 24 24                                  | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal  Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal  Unit Price \$7.10 \$9.71               | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended<br>\$170.40<br>\$233.04                                     |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY                      | QTY  CamWea QTY  CamWea QTY | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal  Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal  Unit Price \$7.10 \$9.71 \$11.39       | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended<br>\$170.40<br>\$233.04<br>\$273.36                         |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. | QTY  CamWea QTY  CamWea QTY | UOM 24 24 24 24 24 24 24 24 24 24 24 24 24                                  | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal Unit Price \$7.10 \$9.71 \$11.39 \$11.75 | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended<br>\$170.40<br>\$233.04<br>\$273.36<br>\$282.00             |
| Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 32: 6 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Ace Mart Restaurant Supply Co Edward Don & Company  Line 33: 8 quart round, Cambro Name Sam Tell and Son Inc. PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY                      | QTY  CamWea QTY  CamWea QTY | 24 24 24 24 24 24 24 24 24 24 24 24 24 2                                    | Unit Price \$4.47 \$6.55 \$7.69 \$8.00 \$8.49 \$10.63  CW6, or equal  Unit Price \$5.44 \$7.67 \$8.99 \$9.25 \$9.99 \$12.43  CW8, or equal  Unit Price \$7.10 \$9.71 \$11.39       | \$107.28<br>\$157.20<br>\$184.56<br>\$192.00<br>\$203.76<br>\$255.12<br>Extended<br>\$130.56<br>\$184.08<br>\$215.76<br>\$222.00<br>\$239.76<br>\$298.32<br>Extended<br>\$170.40<br>\$233.04<br>\$273.36<br>\$282.00<br>\$287.76 |

| Line 34: 12 quart round, Cambi  | ro CamW  | earmodel RFS   | CW12, or equal   |   |
|---|--|--|--|---|
| Name  | <u>QTY</u>                                     | <u>UOM</u>   | Unit Price   | Extended  |
| Sam Tell and Son Inc.   |  | 12   | \$9.45   | \$113.40  |
| PUEBLO HOTEL SUPPLY, INC I  | )  | 12   | \$13.71  | \$164.52  |
| JEAN'S RESTAURANT SUPPLY  |  | 12   | \$16.08  | \$192.96  |
| Pasco Brokerage Inc.  |  | 12   | \$16.50  | \$198.00  |
| Ace Mart Restaurant Supply Co   |  | 12   | \$16.99  | \$203.88  |
| Edward Don & Company  |  | 12   | \$22.21  | \$266.52  |
|   |  |  |  |   |
| Line 35: 22 quart round, Camb   |  |  |  |   |
| Name  | <u>QTY</u>                                     | <u>UOM</u>   | Unit Price   | Extended  |
| Sam Tell and Son Inc.   |  | 12   | \$18.75  | •   |
| PUEBLO HOTEL SUPPLY, INC D  | )  | 12   | \$21.65  | ·   |
| JEAN'S RESTAURANT SUPPLY  |  | 12   | \$25.40  | •   |
| Pasco Brokerage Inc.  |  | 12   | \$26.00  | •   |
| Ace Mart Restaurant Supply Co   |  | 12   | \$26.99  | •   |
| Edward Don & Company  |  | 12   | \$35.08  | \$420.96  |
| Line 36: Lids, round 4 qt food  | ontaine  | r Cambro mode  | ALRESCWC2 or equ   | ıal   |
| Name  | QTY  | UOM  | Unit Price   | Extended  |
| Sam Tell and Son Inc.   | <u> </u>                                       | 24   | \$0.71   | \$17.04   |
| PUEBLO HOTEL SUPPLY, INC I  | )  | 24   | \$1.81   | \$43.44   |
| JEAN'S RESTAURANT SUPPLY  |  | 24   | \$2.12   |   |
| Pasco Brokerage Inc.  |  | 24   | \$2.75   | •   |
| Edward Don & Company  |  | 24   | \$2.93   | •   |
|   | ^  |  | •  | •   |
| Ace Mart Restaurant Supply Co (   | 4  | 24   | \$1.49   | \$35.76   |
| Ace Mart Restaurant Supply Co (   | 4  | 24   | \$1.49   | \$35.76   |
| Line 37: Lids, for round 6 and 8  | 3 qt food                                      | containers, Ca   | mbro model RFSC\   | VC6, or equal   |
| Line 37: Lids, for round 6 and 8  |  | containers, Ca   | mbro model RFSC\ Unit Price  | VC6, or equal  Extended   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  | gt food<br>QTY                                 | containers, Car<br>UOM<br>24   | mbro model RFSC\<br>Unit Price<br>\$1.03   | VC6, or equal Extended \$24.72  |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E  | g qt food<br>QTY                               | containers, Ca<br><u>UOM</u><br>24<br>24   | mbro model RFSCV<br>Unit Price<br>\$1.03<br>\$2.30   | VC6, or equal  Extended \$24.72 \$55.20   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY  | g qt food<br>QTY                               | containers, Ca<br><u>UOM</u><br>24<br>24<br>24                                     | mbro model RFSCV<br>Unit Price<br>\$1.03<br>\$2.30<br>\$2.70   | VC6, or equal  Extended \$24.72 \$55.20 \$64.80   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  | g qt food<br>QTY                               | containers, Car<br><u>UOM</u><br>24<br>24<br>24<br>24<br>24                        | mbro model RFSCV<br><u>Unit Price</u><br>\$1.03<br>\$2.30<br>\$2.70<br>\$3.25  | VC6, or equal  Extended \$24.72 \$55.20 \$64.80 \$78.00   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  Edward Don & Company  | gt food<br>QTY                                 | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                                       | ### Company of the image of the | WC6, or equal  Extended \$24.72 \$55.20 \$64.80 \$78.00 \$89.28   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  | gt food<br>QTY                                 | containers, Car<br><u>UOM</u><br>24<br>24<br>24<br>24<br>24                        | mbro model RFSCV<br><u>Unit Price</u><br>\$1.03<br>\$2.30<br>\$2.70<br>\$3.25  | WC6, or equal  Extended \$24.72 \$55.20 \$64.80 \$78.00 \$89.28   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  Edward Don & Company  Ace Mart Restaurant Supply Co (A)   | gt food<br>QTY                                 | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                                 | ### Ministration   ### Ministrat | \$24.72<br>\$55.20<br>\$64.80<br>\$78.00<br>\$89.28<br>\$35.76  |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  Edward Don & Company Ace Mart Restaurant Supply Co (A  | gt food<br>QTY                                 | 24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24                           | ### Comparison of Comparison o | WC6, or equal  Extended \$24.72 \$55.20 \$64.80 \$78.00 \$89.28 \$35.76   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and  Name   | gt food<br>QTY                                 | containers, Car<br>UOM<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24<br>24 | ### Company of the image of the | **MC6, or equal **   Extended **   \$24.72 **   \$55.20 **   \$64.80 **   \$78.00 **   \$89.28 **   \$35.76 **    Extended **   Extended **                                 |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  Edward Don & Company  Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name  Sam Tell and Son Inc.   | 3 qt food<br>QTY<br>)<br>4<br>22 qt, C:<br>QTY | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Ministration   #### Ministration   #### Ministration   #### Ministration   #### Ministration   ###################################   | **MC6, or equal **   Extended   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E   | 3 qt food<br>QTY<br>)<br>22 qt, Ca<br>QTY      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image of the | ## Section 12   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC II  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  Edward Don & Company  Ace Mart Restaurant Supply Co (A)  Line 38: Lids, for round 12 and Name  Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC II  JEAN'S RESTAURANT SUPPLY  | 3 qt food<br>QTY<br>)<br>22 qt, Ca<br>QTY      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Wind Control of Co | ## Section 14   |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.   | 3 qt food<br>QTY<br>)<br>22 qt, Ca<br>QTY      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of Company | Extended   \$24.72   \$55.20   \$64.80   \$78.00   \$89.28   \$35.76     Extended   \$56.88   \$125.76   \$147.60   \$150.00  |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company   | 22 qt, C:                                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of Company | Extended   \$24.72   \$55.20   \$64.80   \$78.00   \$89.28   \$35.76     Extended   \$56.88   \$125.76   \$147.60   \$150.00   \$204.00                                     |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.  Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC I  JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc.   | 22 qt, C:                                      | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of Company | Extended   \$24.72   \$55.20   \$64.80   \$78.00   \$89.28   \$35.76     Extended   \$56.88   \$125.76   \$147.60   \$150.00   \$204.00                                     |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company   | a qt food QTY  22 qt, C QTY                    | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image of the | Extended \$24.72 \$55.20 \$64.80 \$78.00 \$89.28 \$35.76  Extended \$56.88 \$125.76 \$147.60 \$150.00 \$204.00 \$71.76  |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC II  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  Edward Don & Company  Ace Mart Restaurant Supply Co (A)  Line 38: Lids, for round 12 and Name  Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC II  JEAN'S RESTAURANT SUPPLY  Pasco Brokerage Inc.  Edward Don & Company  Ace Mart Restaurant Supply Co (A)  Line 39: Measuring Cup, gallor  Name   | 22 qt, C: QTY  A  a size, Rt QTY               | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image of the | Extended   \$24.72   \$55.20   \$64.80   \$78.00   \$89.28   \$35.76       Extended   \$56.88   \$125.76   \$147.60   \$150.00   \$204.00   \$71.76     Extended   Extended |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC E JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 39: Measuring Cup, gallor Name PUEBLO HOTEL SUPPLY, INC E  | 22 qt, C: QTY  A  a size, Rt QTY               | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image is a second of the im | Extended   \$24.72   \$55.20   \$64.80   \$78.00   \$89.28   \$35.76  |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 39: Measuring Cup, gallor Name PUEBLO HOTEL SUPPLY, INC D Sam Tell and Son Inc.                                | 22 qt, C: QTY  A  a size, Rt QTY               | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image is a second of the im | Extended  \$24.72 \$55.20 \$64.80 \$78.00 \$89.28 \$35.76  Extended \$56.88 \$125.76 \$147.60 \$150.00 \$204.00 \$71.76  Extended  Extended \$44.12 \$44.28                 |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC ID JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A)  Line 38: Lids, for round 12 and INAME Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC ID JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A)  Line 39: Measuring Cup, gallor Name PUEBLO HOTEL SUPPLY, INC ID Sam Tell and Son Inc. JEAN'S RESTAURANT SUPPLY | 22 qt, C: QTY  A  a size, Rt QTY               | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image is supported by the | Extended  \$24.72 \$55.20 \$64.80 \$78.00 \$89.28 \$35.76  Extended \$56.88 \$125.76 \$147.60 \$150.00 \$204.00 \$71.76  Extended  Extended \$44.12 \$44.28 \$51.76         |
| Line 37: Lids, for round 6 and 8  Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 38: Lids, for round 12 and Name Sam Tell and Son Inc.  PUEBLO HOTEL SUPPLY, INC D JEAN'S RESTAURANT SUPPLY Pasco Brokerage Inc. Edward Don & Company Ace Mart Restaurant Supply Co (A  Line 39: Measuring Cup, gallor Name PUEBLO HOTEL SUPPLY, INC D Sam Tell and Son Inc.                                | a size, Ru                                     | 24 24 24 24 24 24 24 24 24 24 24 24 24 2   | ### Company of the image is a second of the im | Extended  \$24.72 \$55.20 \$64.80 \$78.00 \$89.28 \$35.76  Extended \$56.88 \$125.76 \$147.60 \$150.00 \$204.00 \$71.76  Extended  Extended \$44.12 \$44.28 \$51.76 \$64.00 |

| Line 40: Percentage discount off list price for smallware items not listed |        |                |                 |  |  |
|--|--------|----------------|-----------------|--|--|
| Name   | QTY UC | DM Percent Off | <u>Extended</u> |  |  |
| Sam Tell and Son Inc.  | 1      | 59.5           | 5               |  |  |
| Edward Don & Company   | 1      | 50             | )               |  |  |
| PUEBLO HOTEL SUPPLY, INC D   | 1      | 20             |                 |  |  |
| Ace Mart Restaurant Supply Co  | 1      | 7              | ,               |  |  |

| Line 41: Percentage discount off list price for equipment items not listed |     |            |             |          |  |
|--|-----|------------|-------------|----------|--|
| Name   | QTY | <u>UOM</u> | Percent Off | Extended |  |
| Sam Tell and Son Inc.  | 1   |            | 55          |          |  |
| Edward Don & Company   | 1   |            | 25          |          |  |
| PUEBLO HOTEL SUPPLY, INC D   | 1   |            | 20          |          |  |

| Edward Don & Company          |            | l l        | Ζ:                  | 3         |
|-------------------------------|------------|------------|---------------------|-----------|
| PUEBLO HOTEL SUPPLY, IN       | NC D       | 1          | 20                  | 0         |
|                               |            |            |                     |           |
| Line 42: Installation Service | e Charge   |            |                     |           |
|                               |            |            | <u>Installation</u> |           |
|                               |            |            | <u>Service</u>      |           |
| <u>Name</u>                   | <u>QTY</u> | <u>UOM</u> | <u>Charge</u>       | Extended  |
| Edward Don & Company          |            | 1 HR       | \$35.00             | 0 \$35.00 |
| Sam Tell and Son Inc.         |            | 1 HR       | \$52.50             | 0 \$52.50 |
|                               |            |            |                     |           |